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1. A semi-infinite wedge is subjected to a uniform pressure load q on one of its edges as shown
in Fig. 1. Assuming the Airy stress function to be of the form

φ = r2f(θ),

find the governing equation for f(θ), and solve this equation (Hint: Substituting d2f/dθ2 =
g(θ) may help.). State the equations for determining the unknown constants (you need not
solve these equations). By considering the tractions on the surface r = r0, and without

actually carrying out the integration, find
∫
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Figure 1: Wedge subjected to a uniform pressure load q.


